1.

02 TgelA DABCD 7} SHAGHAEY 1« y o %S
Fajolat,

o
@]
=

i
o

v V. v Vv
0
L
=
I
£

742}

x=AB =8cm
/B = 180° — 105° = 75°
Sy =T5°




ot 1T o] WPALEP ABCD of A A D

/ABD =35°, /ACD =55° 4 off, /x— 2y 9 VV
2

MD)20° @ 25° ® 30° B C

AB//DC °]22 /0AB = /0CD = 55°
AABO ©lA] ZAOB = 180° — (35° + 55°) = 90°

HPAAG o] T tjZHio] M2 o] BZ pABCD & utE R
7} Heh

Lx = 55°, £y = 35°

SoLx— Ly =20°




Thee F tzAlo] AR thE 22 o) 5 Rt
Zyshs BAoltt. 1, Lete] Solg Qe AL
D
0
B c

OA = OC, OB = OD ¢l DABCD ]| A]
AOAB €} AOCD A

OA = OC, OB = OD (7}%)

/AOB = /COD ( )

w2bA, AOAB = AOCD (SAS &%)
(OAB=[ L |olE=Z
~AB//DC---O

npzb7EA] 2 AOAD = AOCB ©f| A
LOAD = /OCBo|E&

. AD//BC.---©

@, ©°ll 25t DABCD = B JApA G o]},

@®© 97z v /OAB

@ 14

® 7 gHERZ L LODA
@j g7k L 00D
® 7 F9A, v L0AD




& WA Y ABCD 9 EFGH = @H50lt}, HAe ABCD
o A5 52.0] Hol7} 34em? U v, BAANE EFGH o] A2
$19] yol2 atefat.

A D E H

| 2
> HE . 34cm?

BPAPHY ABCD 9] Mgt H2o] Yolrt 34cm? o|B= A
A 9] gol&= 68 cm? oJtt.

BPAASY EFGH + FAPHY ABCD of 9Hgo| B2 Ho|7}
68 cm? oJt},

1 L
APEH + APFG = §|:|EFGH ooz A AT HHEO| Uo

rr

34cm? o]t}




th& 182 BPAPAY ABCD ©lth. thg B7] F Hol7t 7P w2
A& =2tk (H 27)
D
F
B I C
@ AADF © AABD © ABDF
® ABFC @ ACDE ® AABF
> E
> &
> &g O
> ®
HHo] F-FolH Eol7t &2 Zo] Wol7l |
HPArA o] H3Ygt 24 AB, DC oA BF ¥H-S 7tx] 1

Qomz
Wo] 71

1 AL 31 1% Bolrt B AL Pt

U X=X

%
watA AABD, AABF 7} 7H8 W& Azt o]t

-~




6. o 1@ 22 BPAAG ABCD oA LACB = £ACD ©]1,
AD = 4cm @ W], gABCD o] 8|2 15HH?

D

@ 12cm @ 13cm @ 1l4cm @ 15cm @16cm

/ACB = /ACD°]|E2 gABCD = A= R o]},
AD = 4cmo|B2 E8|E 4 x 4 = 16(cm) ©]T}.




